CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: CORRAL DRIVE WATER AND SANITARY SEWER EXTENSION

PROJECT NO:

SSW00-882

CONTRACTOR: MAINLINE CONTRACTING INC

ORIGINAL CONTRACT AMOUNT:

\$378,066.80

CHANGE ORDER NO.: Three (3)F

DATE: 31-May-01

711111101	CONDER	NO.: Tilree (5)F						DATE:	51-May-0
LINE	SEC NO	DESCRIPTION	UNIT	CONTRACT OUANTITY	UNIT PRICE	· ·	CO#3	INSTALLED	INCREASE/
HEM	SEC NO	DESCRIPTION	CIVII	QUANTITY	UNIT PRICE	PRICE	QUANTITY	PRICE	(DECREASE)
1	A001	MOBILIZATION	LS	1.00	\$15,000.00	\$15,000.00	1	\$15,000.00	\$0.00
2		CLEARING & GRUBBING	LS	1.00	\$2,500.00	\$2,500.00	1	\$2,500.00	\$0.00
3		8" PVC SEWER MAIN (0-6')	FOOT	455.00	\$15.00	\$6,825.00	455	\$6,825.00	\$0.00
4		8" PVC SEWER MAIN (6'-8')	FOOT	465.00	\$15.00	\$6,975.00	465	\$6,975.00	\$0.00
5		8" PVC SEWER MAIN (8'-10')	FOOT	156.00	\$16.00	\$2,496.00	156	\$2,496.00	\$0.00
6	C0016	8" PVC SEWER MAIN (10'-12')	FOOT	155.00	\$16.00	\$2,480.00	155	\$2,480.00	\$0.00
7		8" PVC SEWER MAIN (12'-14')	FOOT	267.00	\$30.50	\$8,143.50	267	\$8,143.50	\$0.00
8	C0078	4" PVC SERVICE LINE	FOOT	157.00	\$14.00	\$2,198.00	157	\$2,198.00	\$0.00
9	C0086	DROP MANHOLE, 48"	EACH	1.00	\$2,800.00	\$2,800.00	1	\$2,800.00	\$0.00
10	C0089	EXTRA MANHOLE DEPTH, 48" DIA	VF	24.70	\$180.00	\$4,446.00	24.7	\$4,446.00	\$0.00
11	C0092	STANDARD MANHOLE, 48" DIA	EACH	6.00	\$1,300.00	\$7,800.00	6	\$7,800.00	\$0.00
12	C0101	CONNECTION TO EXIST. MH	EACH	1.00	\$400.00	\$400.00	1	\$400.00	\$0.00
13	C0109	SEWER SERVICE CONNECTION	EACH	7.00	\$260.00	\$1,820.00	7	\$1,820.00	\$0.00
14	D0016	8" PVC WATER MAIN	FOOT	1,370.00	\$24.15	\$33,085.50	1370	\$33,085.50	\$0.00
15	D0066	8"X6" REDUCER	EACH	2.00	\$100.00	\$200.00	2	\$200.00	\$0.00
16	D0089	8"X8"X6" TEE	EACH	1.00	\$260.00	\$260.00	1	\$260.00	\$0.00
17	D0090	8"X8"X8" TEE	EACH	1.00	\$280.00	\$280.00	1	\$280.00	\$0.00
18	D0112	8" 11 1/4 DEGREE BEND	EACH	1.00	\$180.00	\$180.00	1	\$180.00	\$0.00
19	D0113	8" 22 1/2 DEGREE BEND	EACH	8.00	\$225.00	\$1,800.00	8	\$1,800.00	\$0.0
20	D0114	8" 45 DEGREE BEND	EACH	2.00	\$225.00	\$450.00	2	\$450.00	\$0.00
21	D0153	6" GATE VALVE W/ BOX	EACH	1.00	\$500.00	\$500.00	1	\$500.00	\$0.00
22	D0154	8" GATE VALVE W/ BOX	EACH	4.00	\$700.00	\$2,800.00	4	\$2,800.00	\$0.00
23	D0168	FIRE HYDRANT W/ AUX VALVE & LEAD	EACH	1.00	\$2,000.00	\$2,000.00	1	\$2,000.00	\$0.00
24	D0170	6" WATERMAIN LOWERING	EACH	0.00	\$2,200.00	\$0.00	0	\$0.00	\$0.00
25	D0190	TIE TO EXISTING WATER MAIN	EACH	2.00	\$700.00	\$1,400.00	2	\$1,400.00	\$0.00
26		ROCK EXCAVATION (TRENCH)	CY	823.00	\$61.50	\$50,614.50	823	\$50,614.50	\$0.00
27	E00027	TYPE I BEDDING MATERIAL	TON	926.00	\$14.50	\$13,427.00	926	\$13,427.00	\$0.00
28	E00031	TYPE II FOUNDATION MATERIAL	TON	0.00	\$16.50	\$0.00	0	\$0.00	\$0.00
29	G00011	UNCLASSIFIED EXCAVATION	CY	1,725.00	\$15.40	\$26,565.00	1725	\$26,565.00	\$0.00
30		ROCK EXCAVATION	CY	4.00	\$30.00	\$120.00	4	\$120.00	\$0.00
31		AASHTO T-180, MODIFIED PROCTOR TEST	EACH	1.00	\$200.00	\$200.00	1	\$200.00	\$0.00
32	G00035	PLACE ON-SITE TOPSOIL	CY	275.00	\$4.75	\$1,306.25	275	\$1,306.25	\$0.00
33	G00035	PLACE IMPORT TOPSOIL	CY	275.00	\$17.25	\$4,743.75		\$4,743.75	\$0.00
34	G00035	PLACE IMPORT COMPOST	CY	275.00	\$11.45	\$3,148.75	275	\$3,148.75	\$0.00
35	H00011	ASPHALT PAVEMENT SAWING	FOOT	167.00	\$2.00	\$334.00	167	\$334.00	\$0.00

36	H00013	INITE & NEWIOVE ASPITALI CONG. PAVEIVIENT, 1 1/2 INGIT	SY	800.00	\$0.75	\$600.00	800	PWO	51301-0 ^{\$} 1.00
37	H00013	MILL & REMOVE ASPHALT CONC. PAVEMENT, FULL DEPTH	SY	3,700.00	\$1.05	\$3,885.00	3700	\$3,885.00	\$0.00
38	H00014	REMOVE & DISPOSE ASPHALT PAVEMENT	SY	483.70	\$6.00	\$2,902.20	483.7	\$2,902.20	\$0.00
39	H00015	REMOVE & DISPOSE CONCRETE CURB & GUTTER	FOOT	278.40	\$3.85	\$1,071.84	278.4	\$1,071.84	\$0.00
40	H00033	REMOVE CONCRETE APPROACH PAVEMENT	SY	18.60	\$6.50	\$120.90	18.6	\$120.90	\$0.00
41	H00043	REMOVE CONCRETE PAVEMENT	SY	276.70	\$7.75	\$2,144.43	276.7	\$2,144.43	\$0.00
42	H00061	TREE REMOVAL, 12" - 24"	EACH	12.00	\$475.00	\$5,700.00	12	\$5,700.00	\$0.00
43	100011	MILLED ASPHALT BASE COURSE	TON	1,160.00	\$7.75	\$8,990.00	1160	\$8,990.00	\$0.00
44	100030	AC, CLASS G, TYPE 1	TON	1,009.10	\$33.75	\$34,057.13	1009.1	\$34,057.13	\$0.00
45	100031	AC, CLASS G, TYPE 2	TON	734.60	\$36.25	\$26,629.25	734.6	\$26,629.25	\$0.00
46	100040	CONCRETE APPROACH PAVEMENT, 6"	SY	113.20	\$42.50	\$4,811.00	113.2	\$4,811.00	\$0.00
47	100058	PCC PAVEMENT, 7" NONREINFORCED	SY	244.70	\$47.25	\$11,562.08	244.7	\$11,562.08	\$0.00
48	100068	CONCRETE "P6" GUTTER	FOOT	175.40	\$10.60	\$1,859.24	175.4	\$1,859.24	\$0.00
49	100073	CONCRETE CURB & GUTTER, TYPE B66	FOOT	2,788.80	\$10.60	\$29,561.28	2788.8	\$29,561.28	\$0.00
50	100084	CONCRETE FILLET & PAN (REINFRCD), 6"	SY	190.50	\$50.25	\$9,572.63	190.5	\$9,572.63	\$0.00
51	100090	INSTALL #10 STEEL BAR IN CONCRETE	EACH	134.00	\$8.30	\$1,112.20	134	\$1,112.20	\$0.00
52	100113	ASPHALT OVERLAY FABRIC	SY	273.30	\$5.50	\$1,503.15	273.3	\$1,503.15	\$0.00
53	J00020	12" RCP, CLASS II	FOOT	29.00	\$54.00	\$1,566.00	29	\$1,566.00	\$0.00
54	J00022	15" RCP, CLASS II	FOOT	8.00	\$56.00	\$448.00	8	\$448.00	\$0.00
55	J00061	15" RCP SAFETY END	EACH	1.00	\$800.00	\$800.00	1	\$800.00	\$0.00
56	J00109	TYPE "B" INLET W/ CURBED COVER	EACH	2.00	\$1,500.00	\$3,000.00	2	\$3,000.00	\$0.00
57		EROSION CONTROL SILT FENCE	FOOT	907.00	\$3.55	\$3,219.85	907	\$3,219.85	\$0.00
58		SEEDING, FERTILIZING & MULCHING	SY	9,600.00	\$1.20			\$11,520.00	\$0.00
		COLD PLAST. MARKING, 12"	FOOT	306.50	\$12.00	\$3,678.00	306.5	\$3,678.00	\$0.00
		COLD PLAST. MARKING, 4"	FOOT	2,141.80	\$3.50	\$7,496.30		\$7,496.30	\$0.00
		COLD PLAST. MARKING, 8"	FOOT	111.00	\$16.50	\$1,831.50		\$1,831.50	\$0.00
62	M00015	COLD PLAST. MARKING, AREA	SF	57.00	\$35.50	\$2,023.50	57	\$2,023.50	\$0.00
		COLD PLAST. MARKING, ARROW	EACH	5.00	\$475.00	\$2,375.00	5	\$2,375.00	\$0.00
		COLD PLAST. MARKING, MESSAGE	EACH	2.00	\$475.00			\$950.00	\$0.00
65		TRAFFIC CONTROL	LS	1.00	\$6,000.00	\$6,000.00	1	\$6,000.00	\$0.00
66		INCIDENTAL WORK	LS	1.00	\$5,200.00	\$5,200.00		\$5,200.00	\$0.00
67		CLASS 2 RIPRAP	CY	6.00	\$56.00			\$336.00	\$0.00
68		surveying CO#1	LS	1.00	\$6,244.50	, ,		\$6,244.50	\$0.00
69		concrete encasement CO#1	LS	1.00	\$450.00	·		\$450.00	\$0.00
70		aggregate base course CO#1	CY	614.03	\$19.50			\$11,973.59	\$0.00
71		Additional Survey CO#2		1.00	\$723.45			\$723.45	\$0.00
72		Remove aggregate base course CO#1 @ \$19.50/ton		614.03	(\$19.50)	, ,	614.03	(\$11,973.59)	\$0.00
73		Add back aggregate base course CO#1 @ \$16.00/ton		614.03	\$16.00	\$9,824.48		\$9,824.48	\$0.00
74	0.00	Additional imported topsoil CO#3	CY	0.00	\$17.25	\$0.00	12	\$207.00	\$207.00
		END BID ITEMS							
		TOTAL				\$421,067.14		\$421,274.14	\$207.00

PW061301-01

						<u> </u>
	C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRAC	CT PRICE :	\$421,067.14
		CCO #1 CCO #2	\$18,668.09	NET INCREASE/(DECREASE):	\$207.00
		CCO #2	\$24,332.25	ADJUSTED CONTRACT PRIC	CE:	\$421,274.14
	PR	IOR TOTAL =	\$43,000.34	CHANGE TO DATE:		\$43,207.34
CONTRACTOR:					DATE:	
ENGINEER:					DATE:	
MAYOR:					DATE:	
FINANCE:					DATE:	
CONTRACT TIME	E CHANGE +/-: 0 NEW CONTRACT TIME:	Days				

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: CORRAL DRIVE WATER AND SANITARY SEWER EXTENSION PROJECT NO: SSW00-882

CONTRACTOR: MAINLINE CONTRACTING INC

ORIGINAL CONTRACT AMOUNT:

\$378,066.80

CHANGE ORDER NO.: Three (3)F

DATE: 31-May-01

LINE			
ITEM		DESCRIPTION	REASON FOR CHANGE
1-73	0	adjusted bid items	Adjust Bid Quantities, CO#1 and CO#2 Quantities with actual quantities installed to date.
74	0	Additional imported topsoil CO#3	In order to complete the project additional topsoil was needed.
-			
PREPAR	ED BY	:	DATE: